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4_© †kªwY 

welqt wn› ỳag© I •bwZK wk¶v 

 

eB‡qi bvgt wn›`yag© I •bwZK wk¶v (†evW© KZ…©K cÖKvwkZ)  

 

1g †kªwY Afx¶v t 1g I 2q Aa¨vq 

2q †kªwY Afx¶v t 3q Aa¨vq 

 

Aa© evwl©K cix¶v t   

 1g Aa¨vq  t Ck¦i me©kw³gvb 

 2q Aa¨vq  t ‡`e‡`ex I c~Rv 

 3q Aa¨vq t gywb-Fwl I ag©MÖš’ (m¤ú~Y©) 

 4_©© Aa¨vq t kÖ×v I mnbkxjZv 

 5g Aa¨vq t Z¨vM I D`viZv 

 

3q †kªwY Afx¶v t 6ô Aa¨vq 

4_© †kªwY Afx¶v t 7g I 8g Aa¨vq 
 

evwl©K cix¶v t   

 6ô Aa¨vq t cÖwZÁv i¶v, ¸iæR‡b fw³ (m¤ú~Y©) 

 7g Aa¨vq t ¯^v¯’¨i¶v, Avmb (m¤ú~Y©) 

 8g Aa¨vq t ‡`k‡cÖg 

 9g Aa¨vq t gw›`i I Zx_©‡¶Î 
 

 

mKj †kÖwY Afx¶vi gvbeÈb 
 

1| mwVK DËi (4wU) t 1×4=04  

2| k~b¨¯’vb c~iY (4wU) t 1×4=04  

3| msw¶ß cÖkœ (4wU) t 2×4=08  

4| iPbvg~jK cÖkœ (1wU) t 4×1=04  

   ‡gvU- 20  

 

 

ce© cix¶vi gvbeÈb 

mKj c‡e©i Rb¨ 

1| mwVK DËiwU LvZvq wjL (15wU) t 115=15  

2|  Dchy³ kã ewm‡q k~b¨¯’vb c~iY (10wU)  t 1×10=10  

3|  msw¶ß cÖkœ (5wU)  t 5×5=25  

4|  iPbvg~jK cÖkœ (5wU) †hvM¨Zv wfwËK cÖkœ (1wU)  t 10×5=50  

 ‡gvU-  =  100  

  


